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COMMENT ON QUESTION 4A
It can be seen from the output of using both the fixed point iteration method and the newton Raphson method that, when using newton Raphson method it takes a shorter iteration to get to the required tolerance for error.
When using fixed point iteration method, it takes a longer iteration to get to the required tolerance for error. 

Using matlab to solve with the fixed point iteration method
Where var 1=iteration
              Var2=density (p)
               Var 3= Error
  Var1     Var2         Var3   
    ____    _______    __________

      0        0.35             0
      1     0.83669        58.168
      2      1.9309        56.669
      3      4.1234        53.172
      4      7.5858        45.643
      5      11.219        32.384
      6      13.486        16.809
      7      14.396        6.3246
      8      14.685        1.9647
      9      14.768       0.56647
     10      14.792       0.15956
     11      14.799      0.044645
     12        14.8      0.012468
     13      14.801       0.00348
     14      14.801    0.00097117
     15      14.801    0.00027102
     16      14.801     7.563e-05
     17      14.801    2.1105e-05
     18      14.801    5.8896e-06
     19      14.801    1.6435e-06
     20      14.801    4.5865e-07
     21      14.801    1.2799e-07
     22      14.801    3.5716e-08
     23      14.801     9.967e-09
     24      14.801    2.7814e-09
     25      14.801    7.7617e-10
     26      14.801    2.1659e-10
     27      14.801     6.044e-11
     28      14.801    1.6874e-11
     29      14.801    4.7166e-12
     30      14.801    1.2962e-12
     31      14.801    3.7205e-13
     32      14.801    1.0801e-13
     33      14.801    2.4003e-14
     34      14.801             0
     35      14.801             0
     36      14.801             0
     37      14.801             0
     38      14.801             0
     39      14.801             0
     40      14.801             0




Using matlab to solve with the newton raphson method
Where var 1=iteration
              Var2=density (p)
               Var 3= Error
    Var1     Var2        Var3   
    ____    ______    __________

      0       0.35             0
      1      8.341        95.804
      2     13.321        37.385
      3     14.717        9.4868
      4     14.801       0.56523
      5     14.801     0.0018608
      6     14.801    2.0062e-08
      7     14.801             0
      8     14.801             0
      9     14.801             0
     10     14.801             0
     11     14.801             0
     12     14.801             0
     13     14.801             0
     14     14.801             0
     15     14.801             0
     16     14.801             0
     17     14.801             0
     18     14.801             0
     19     14.801             0
     20     14.801             0
     21     14.801             0
     22     14.801             0
     23     14.801             0
     24     14.801             0
     25     14.801             0
     26     14.801             0
     27     14.801             0
     28     14.801             0
     29     14.801             0
     30     14.801             0
     31     14.801             0
     32     14.801             0
     33     14.801             0
     34     14.801             0
     35     14.801             0
     36     14.801             0
     37     14.801             0
     38     14.801             0
     39     14.801             0
     40     14.801             0

